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10000 1987/01/01 1
5 1987/12/31
200 1500 9000 800 4300 500
. 500 2200 ( )
2000 1000
1987/12/31
200+1500+9000+800+4300+500 = 1987/12/31
16300 =
500+2200 = 1987/12/31
2700 =
2700-16300 = 1987/12/31  ( )
13600 =
1987/01/01 () -1987/12/31 () =
10000-13600 =
3600 =
3600
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2600
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() 2600
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2500 1500 1000 2000 4000 1000
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2500+1500+4000+1000 = 1987/12/31
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100042000 = 1987/12/31
3000 =
3000-9000 = 1987/12/31 ( )
6000 =
1987/01/01 () -1987/12/131 () =
7000-6000 =
1000 =
1000
1000
2000
500
() 1500
2003/12/31 5500 2003/01/01 3
1200 1580 . 420 4505 9000 2000 - . 800 1100
1500
: 800
.2003/12/31 ()
1580+9000+2000+800+1100 = 1987/12/31
14480 =
1200+420+4505 = 1987/12/31
6125 =
6125-14480 = 1987/12/31 ()
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1987/01/01 () -1087/12/31 () =
5500-8355 =
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1800
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() 1500




< >

(Double Entry System)agajoll saidll ollas*

(Balance Sheet Equation) *
(Accounting Equation)
<==
( ) = ( )
( ) + =
+ = <==
= .
+ =
(1) = - <-- - + = -
= [
+ =
(2) = - <--- + - = -
140000 200000 1995
100 20000 10000
5000
! 2 A
+ =
140000 + = 200000

= 140000 —200000
= 6000

+ —

+ 140000 = 200000

(20000 - 140000) — (10000 +200000)
= 120000 — 210000
= 90000

(90000+100) :
90100 =
(90100-5000) :

e =



—~

—:(Balance Sheet)glloll 3% yoll doild ol dusil 30l 1*

:(Assets) .

:(Liabilities) .

) :(Owneres equity) .
:(Transactions) .

:dgilyoll dlaleo Fashiil gac o3 ol dsaurlaoll ilsloall ueids
- 1
..... 500 .
500 500

:dlanllo*
:(Account) *

*
_'7 —'7



1988
15000 1988/01/01
4000 12
3800 13
2000 1/4
200 1/5
1500 2000 17
4000 1/15
1000 1/20
400 1/30
1/30
500 1/30
700 1/31
+ + =+ + + + +
15000 * = 15000*
= 4000° 4000
= 3800" 3800
= 2000* 2000
200 = 200
500 * = 1500°  2000*
4000* = 4000 *
1000~ = 1000~
400 = 400
3000 " 3000 - =
500" = 500°
700 = 700°
14700 3000 000 = 500 4000 2000 2300 2700 6200
=
N
N
.
() -

1
2
3
4
.5
6
7
8
9

10
A1
12



=
-**x-*

:(Journal)
20000 1990 1 -1
1000 5
100 500 20
300 200 31
(1)
() ()
1995/01/0 2| 1 / 20000 | 000
1 1 / 20000 | 000
5 3 2 ; 1000 | 000
2 / 1000 | 000
B 4l 3 P 500 | 000
z i
/ 000
» 4 200 | 000
: / 300 | 000
3
2 / 200 | 000
/ 300 | 000
22000 | 000 | 22000 | 000




—:magoll aadlly haganndl oyl =

( ) :(Compound Entry
:(Ledger)

16000 1999/01/01 1
200 99/01/03
2500 99/01/05
1500 99/01/09
800 3000 99/01/12
1000 99/01/15
700 1200 99/01/17
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100 000
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425000
25000 (=)
10000 ( ) )
35000 35000
390000
15000 )
320000 +)
10000 +)
11000 +)
341000
75000 )
266000 266000
281000
120000 12/31 )
161000 161000
229000
(-)
66200 =)
38300 =)
104500 104500
124500
168 4
. 3
30/
30 . 30/
30/ 10/2 800
= 100/2*800 %2 10
10 748 =16 -800 <== 16= 100+1600
30
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15 0
150 5.333
%5.333 = 2250 = 15x150 =
119.9925 = 100+11999.25 = %5.333x2250 <==
2130.0075 = 119.9925 — 2250 <==
0.056 = 2130.0075+ 119.9925 = <==
U -
3
3 48000 2006
10000 %5
12000 %6
22000 %10
1500 = 05 3x 10000
2160 = %6 3Ix 12000
7800 = %10x 3x | ( )26000
11460 =
- - 4
- 1: -
150
15 O
30/ 10/2 150 5.333%
%5.333 = 2250 = 15x150 =
119.9925 = 100+11999.25 = %5.333x2250 <==
2130.0075 = 119.9925 — 2250 <==
90/11/20 / 2130
/ 2130
.30/ 10/2 O 150




! 3200

89/11/27

%5.333

89/11/28

%5.333

89/12/10

- (2
89/11/27
1 / 3200
/ 3200
1- _
150
15 0
30/ 10/2 150
89/11/28
119.9925 = 100+11999.25 = 9%5.333x2250 <==:
2130.0075 = 119.9925 — 2250 <==
1 / 2130
( ) / 2130
1/() 150
(2
89/12/10
7300
1 / 7300
/ 7300



1/() 300
89/12/10
1/
89/11/22
.90/11/27

90/11/21

a-: -
90/11/21
1 / 300
/ 300
300
: (2
90/11/22
1/
1 / 300
/ 300
1/
90/11/20 (1)
A1
3 2
( ) /
/ 300 90/11/20 / 2130
80 Ll
2130 2130



1830 = 300 - 2130 ' " 1
36.6 = 1830 x %2 2
1830 1793.4 = 36.6 — 1830 <==
3
: 1830
90/11/21 1 / 1793.4
/ 36.6
/ 1830
90/12/20 )
90/12/20 1 / 1830
/ 1830
90/11/27 90/12/20 (3)
/
90/11/21 /2130 90/11/21 /300
........ 1830
2130 2130

36.6 = 1830 x %2 =

90/12/20 1 / 1830
1830
/ 1793.4
/ 36.6
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- <==
89/12/20 1 / 1830
/ 1830
3 48000 2006
22000 %10 12000 %6 10000 %5
11460 1991
A
1500 = %5x% 3x 10000
2160 = %6x 3x 12000
7800 = %10x 3x ( )26000
11460 =
— n n -2
91/01/31 1 / 11460
/ 11460
11991
91/01/31 1 / 11460
/ 11460
.1991
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20 150
) . .30/ 10/3 90/11/10
90/11/17 60 (
.2 1
3000 = 20 x 150 = A
90 = 100+9000 = 3000 x %3 60
2970 = 90 — 3000
90/11/10 1 / 3060
/ 3000
/ 60
30/ 10/3 150
90/11/17 2
/ 2970
/ 90
/ 3060
...... 2
90/11/10 1
/ 3000
/ 60
/ 3060
30/ 10/3
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3060
/ 90
/ 2970
192+191 (1)
30/ 10/2
150 50 600 -
100 120 1200 -
200 000 1400 -
000 150 2000 -
1100 = 100 — 1200 ( . 450 = 150 — 600 (

22 =100 + 2200 = %2 x 1100
1078 = 22 - 1100

9 = 100 + 900 = %2 x 450
491= 50 +(9 — 450)

40=100+ 4000 =%2x2000 ( ; 1200 = 200 — 1400 (
2110=150+(40—-2000) 24=100+ 2400= %2 x1200
. 1176 = 24 — 1200
800 90/06/08 . 192 )
200 90/06/12 30/ 10/2
90/06/18
12=4- 16 <==  4=100+ 400 = %2 x 200 16 = 100+ 1600 = %2 x800
588 = 196 — 784 <== 196=  4-200 784 = 16 - 800
600 = 12 + 588
90/06/08 1 / 800
/ 800
.30/ 1072




90/06/12 2 200
200
90/06/18
588
12
600
3)
11990
3300 8 -
.30/ 10/2
8 50 10 -
300 12 -
17 -
A
3300
/ 3300
. 30/ 10/2
12 300
300
17
2940
60
3000



2
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/ 3300
.30/ 1072
10 / 50
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/ 300
17 / 3000
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/ 2940
- 1
/
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75000 /25000
/11000
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- 199 ((4)
330000 4500 1500 500000
8000 6600 3000
18000
500000
/ 3000
503000
/ 6600
/ 18000
/ 24600
/ 344000
330000
/ 1500
/ 8000
/ 4500
/ 125000
/ 125000
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/ 120000 /115000
/ 425000 /320000
/75000 /25000

/11000
/10000
/10000
" " /129000
620000 620000
/
" "/ 129000 /21500

/7500 /14000
/ 7500
/ 9000
/84500
136500 136500
+ +111 = dlanto
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_ N N _ *

~3 0 208 (5)
3000 330000 4500 1500 500000
125000 8000 6600
64000 18000
59000
12/31 / 590000 (:
/ 590000
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500000

6000
494000

346000

148000

125000
23000
18000
41000

64000

341000

405000
59000
346000

125000
125000

64000

1500

4500
6000

330000
3000
8000
341000

12/31

12/31

)

(+)

(+)

)

(+)



180 6x 30
280 7x 40
400 8 x 50
860
3 2 .
600 10x 60
1100 11x 100
1300 13x 100
600 15x 40
3600 300
80 220
10. 20 :
40. 10.
2 1




200 = 10x 20 600 = 10x 60
110 = 11x 10 1100 = 11x 100
130 = 13x 10 1300 = 13x 100
600 = 15x 40 600 = 15 x 40
1040 ~ 80 3600 300
3600
1040 (=)
2560
10. 10. 20
40.
2 1
200 = 10x 20 600 = 10x 60
110 = 11x 10 1100 = 11x 100
130 = 13x 10 1300 = 13 x 100
600 = 15x 40 600 = 15 x 40
1040 80 3600 300
3600
1040 1(-)
2560
3600
e W =
BSOS
z—=
960 = 12x 80
3600 =
960 =
2640 =



10.

520 = 13x 40
600 = 15x 40
1120 80

10.
600 = 10x 60
220 = 11x 20
820 80

600 =
1100 =
1300 =

600 =
3600

3600
1120
2480
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40.
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100
100
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20:

40.

600 =
1100 =
1300 =
600 =

3600

3600
820
2780

10x
11x
13 x
15 x

10.

60
100
100
_40
300
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4400 4400 4400 4400 (20*220)
600 600 600 600
3000 3000 3000 3000
3600 3600 3600 3600
820 1120 960 1040
2780 2840 2640 2560
= 2780 — 4400 = 2840 — 4400 =2640 — 4400 = 2560 — 4400" - "
( 1620) ( 1920) ( 1760) ( 1840)
000 300 140 220
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10000 ( ) )
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341000
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266000
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